A\ = 7= —
SM6FE TETE
| OB
A X K A & £ B
| 2 3 4 5 6
RBUE(RES) BHUXBERMREE | ZaHd Y
ERRESE (ERWIENE) | HHXEERES =
(3:-5%) (2 %8%)
7 8 q I 0 [ | 2 | 3
ok LIEEE ITWRES ITHNERT FHDY
PTA AR EH& (3%)
£19:00 7575%E
| 4 15 I 6 |7 | 8 I 9 20
AR—YDAH RBUE(REE) | MMY FHA HEDHY
ALY (1~3%) —FTH12:30
8:50
21 22 23 24 25 26 27
9405 94-7 EE 22 $BTLEDY
(~10/25) 9:20
BRIRRELHES
10:40
TH12:30
28 29 30 31
HEBER AR | SRAERE HWEEBNT | BEKRT
g (1 -6%F) T&K13:30 (~11/1)
3 (6FENH)
b BRI E
T®I14:30
38 (B) XXt H
48 (B) #&&1KkE
58 (K) %h/NEREHE)BR
7H OK) FREEZWHES 19:00
98 (1) BHRINHVESI T4 T
| 0B (B) m"EmRBE~YZ YV >AE
| 68 (LX) INFLEELES
| 88 (B) BAFKR ~2208 (&)
238 () HHuR&Hpol

25H
278

(B) XM~ 7 V%
(K) 2FHBABUIRE5| *% LB




